1/c do/dsum p_ [GeV]

Ratio to CMS

T

=

=
<
[N

1072

0.5

900 GeV pp Underlying Event
— T T T T T T 1T T T T T T TT 1T T 1T 7T 17T T3
E| | | | E %
- Scalar Z(pT) (pT > 3) 43
L 1=
(@)
\
= 3N
— do
I —
B iy
™
— .\h‘d‘\ ' 145
ﬂ\ﬂ\. =
— ’ —
= . =
B i
_ x [
— A — ™M
- S 3
— I
— —
o m CMS y 1=
| —— Pythia 8.308 default < ] %
= Pythia 8.308 tune-1 = 95
~ Pythia 8.308 tune-2c ™8 3¢
- Pythia 8.308 tune-2m 18
| - 0
S
I —] Q.
— 30
| | | | | | 1 | | | | | | I | ] =
:l T T T T | T T T T | T T T T | I:
— -2
: A—p :
AAL\‘\A—\A—A——A———‘\ 1
- ;t‘/;W |
| —0.5
| " 1 1 1 1 | " 1 1 1 1 " | " 1 " 1 " 1 " 1 " | " 1
0 5 10 15

sum p_ [GeV]



	Contents
	Page 1


